Robustness of PESEL"™m° and PESE L"etero

Student noise. Estimated number of PCs as a function of SNR.
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Figure 1: Data drawn according to the Scenario 4 (noise from Student distribution). True number
of components is 5. Size of the symbol is proportional to the particular results frequency. Lines
represent mean estimated number of Principal Components. Results are for number of variables
150 and 800. Number of observations is constant and equal 100.



Lognormal noise. Estimated number of PCs as a function of SNR.
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Figure 2: Data drawn according to the Scenario 5 (noise from Lognormal distribution) with
parameters ;1 = 2, 02 = 1.2. True number of components is 5. Size of the symbol is proportional to
the particular results frequency. Lines represent mean estimated number of Principal Components.
Results are for number of variables 150 and 800. Number of observations is constant and equal
100.

Additional variables. Estimated number of PCs as a function of SNR.

n=100, p=150 T )

5- l"— A A

EEWM}/IIII ooo 1 1] o/aa ooo o0oo

172
[&]
o
53"
9]
Qo
€
=)
=z

2.

- |

000 [ | M [
0.25 1 8 0.25 0.5 0.75 1 8

SNR

hett hetero homo
c 00O Method [l PESEL™° @) PESEL*“° /) PESEL"
Frequency

0.25 0.50 0.75 1.00

Figure 3: Data drawn according to the Scenario 6 (surplus noisy variables). True number of
components is 5. Size of the symbol is proportional to the particular results frequency. Lines
represent mean estimated number of Principal Components. Results are for number of variables
150 and 800. Number of observations is constant and equal 100.



